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1. Am
bheil

an
t-acras

ort,
no
do
dh’ith


Q
be.pres.dep
the.sm
hunger

on.2s
or
past
eat.past

thu
do

dhinnear
[mar tha]?

2s
poss.2s

dinner

already

‘Are you hungry, or did you eat (your) dinner already?’

2. …no
bheil

thu
air
do
dhinnear
ithe
[mar tha]?

…or
be.pres

2s
on
poss.2s
dinner

eat.vn
already

‘or have you eaten (your) dinner already?

3. Tha
mi
direach

air
mo

dhinnear
ithe.

be.pres
1s
just

on
poss.1s

dinner

eat.vn

‘I’ve just eaten my dinner.’

Note: Perfect construction

Note: Inverted nominal

4. Tha
mi
direach

air
mo
dhinnear
a
ghabail.

be.pres
1s
just

on
poss.1s
dinner

tran
take.vn

‘I’ve just eaten (taken) my dinner.’

Note: Perfect construction

Note: Inverted nominal

5. Tha

agam
ri
ithe.

be.pres

at.1s
to
eat.vn

‘I have to eat.’

6. Feumaidh
mi
ithe.

must

1s
eat.vn

‘I must eat.’

Note: ‘feumaidh’ would be something like the future form of feum (‘must, oblige’).
7. Tha
feum

agam
air
ithe.

be.pres
need.sm
at.1s
on
eat.vn

‘I need to eat.’

8. Tha

graidh

agam
air
ithe.

be.pres

love.sm
at.1s
on
eat.vn

‘I love to eat.’

Note: NSC calls this unnatural

9. Tha

mi
glè
dheidheil
air
ithe.

be.pres

1s
very
fond

on
eat.vn

‘I love/am very fond of eating.’

10. Bu

choir
dhut
ithe!

cop.past
right
to.2s
eat.vn

‘You should eat!’

11. Bu

choir
dhi
ithe!

cop.past
right
to.1s
eat.vn

‘I should eat!’

12. ‘S

docha

gun

ithinn.

cop.pres
preferable
decl-C
eat.cond.1s

‘I might eat. / It is preferable that I eat

13. Dh’fhaodinn
ithe.

might.1s
eat.vn

‘I might eat.’

14. Dh’fhaodadh
tu
ithe.

might

2s
eat.vn


‘You might eat.’


Note: dh’fhaodadh is a form of the verb faod (can, may)
15. ‘S

urrainn

dhomh

ithe.

cop.pres
ability

for.1s

eat.vn

‘I can eat.’

16. ‘S

urrainn

do
Bhob
ithe.

cop.pres
ability

for
Bob
eat.vn

‘Bob can eat.’

17. ‘S

urrainn

dhan
a’
chaora

ithe.

cop.pres
ability

for the
the.sf
sheep.sf
eat.vn

‘The sheep(s) can eat.’

18. Bu

choir

dhan
a’
chaora

ithe.

cop.past
right

for the
the.sf
sheep.sf
eat.vn

‘The sheep(s) should eat.’

19. Bu

choir

do
Bhob
ithe.

cop.past
right

for
Bob
eat.vn

‘Bob should eat.’

20. Bu

choir

do
Bhob
marag

dhubh
ithe.

cop.past
right

for
Bob
pudding
black
eat.vn

‘Bob should eat black pudding.’

21. Bu

choir
do
Bhob

a

h-ithe.

cop.pres
right
for
Bob

poss.3sf
eat.vn

‘Bob should eat it [feminine thing].’

Note: The h- is triggered by the possessive marker

22. Bha

Bob
ga

h-ithe.

be.past

Bob
prog.poss.3sf
eat.vn

‘Bob was eating it [feminine thing].’

Note: NSC says ‘ga’ only occurs with verb ‘to be’

Note: The h- is triggered by the possessive marker

23. ‘S

toigh

leum

ithe.

cop.pres
agreeable
with.1s

eat.vn

‘I like to eat.’

24. *’S 

toigh

leum

a
dh’ithe.

cop.pres
agreeable
with.1s

tran
eat.vn

Note: Ungrammatical, but that’s because of the rule deleting tran before vns that begin in a vowel

25. ‘S

toigh

le
Bob
ithe.

cop.pres
agreeable
with
Bob
eat.vn

‘Bob likes to eat.’

26. ‘S

toigh

leis

a’
chaora

ithe.

cop.pres
agreeable
with the
the.sf
sheep.sf
eat.vn

‘The sheep likes to eat.’

27. ‘S

toigh

leum

Bob.

cop.pres
agreeable
with.1s

Bob

‘I like Bob.’

28. ‘S

toigh

le
Bob
a’
chaora.

cop.pres
agreeable
with
Bob
the.sf
sheep.sf

‘Bob likes the sheep(s).’

29. ‘S

toigh

leis

a’
chaora

Bob.

cop.pres
agreeable
with the
the.sf
sheep.sf
Bob

‘The sheep likes Bob.’

30. ‘S

toigh

le
Bob
na
caoraich.

cop.pres
agreeable
with
Bob
the.pf
sheep.pf

‘Bob likes the sheep(p).’

31. Is

toigh

le
Bob
marag

dhubh
ithe.

cop.pres
agreeable
with
Bob
pudding
black
eat.vn

‘Bob likes to eat black pudding.’

Note: Inverted nominal.

32. ‘S

toigh

le
Bob
marag

dhubh
a
chocaireachd.

cop.pres
agreeable
with
Bob
pudding
black
tran
cooking.vn
‘Bob likes cooking black pudding.’

33. ‘S

toigh

le
Daisy

ubhlan

ithe.

cop.pres
agreeable
with
Daisy

apple.p

eat.vn

‘Daisy likes to eat apples.’

34. Daisy
bhochd.

Daisy
poor.f

‘Poor Daisy.’

35. Chòrd

e
ri
Daisy

ubhlan

ithe.

please.past
3sm
to
Daisy

apple.p

eat.vn

‘Daisy liked to eat apples.’ 

36. Chòrd

e
ris
a’
chaora

ubhlan

ithe.

please.past
3sm
to the
the.sf
sheep.sf
apple.p

eat.vn

‘The sheep(s) liked to eat apples.’

37. Tha
feum

aig
a’
chaora

air
ubhal.

be.pres
need.sm
at
the.sf
sheep.sf
on
apple

‘The sheep(s) needs an apple.’

38. Tha
feum

aig
ubhal

air
a’
chaora.

be.pres
need.sm
at
apple

on
the.sf
sheep.sf

‘An apple needs the sheep.’

39. ‘S

toigh

leatha

coiseachd.

cop.pres
agreeable
with.3sf
walking.sf

‘She likes to walk/walking.’

40. Chòrd

e
rithe
coiseachd.

please.past
3sm
to.3sf
walking.sf

‘She liked to walk.’

41. Chòrd

e
ris
a’
chaora

coiseachd.

please.past
3sm
to the
the.sf
sheep.sf
walking.sf

‘The sheep liked to walk.’

